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Instructions to Candidates 

Read the instructions carefully before you start 
answering the questions. Answers are to be given on a 
OMR Answer-Sheet provided. 

1. In this Paper you are to answer 90 questions.
Each question carries l(one) mark. You are to answer 
all the questions. 

2. Before you proceed to mark in the OMR
Answer-Sheet find out the correct answer from the four
alternatives (a), (b), (c) and (d) against each question in 
the Question Booklet. Darken the circle with a Black
Ball Point Pen, to the corresponding correct answer for 
the item in the OMR Answer-Sheet. 

Example: G) • @ @) 
(Here 'b' is the correct answer.) 

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrong 
answer. 

4. There will be no penalty marks or negative
marking for a wrong answer. 

5. You are to start recording answers with the
'start' instruction from the Officer-in-Charge of your 
room/hall. 

6. You are to write your Name and Roll No. in
the space provided with for this purpose on the OMR 
Answer-Sheet You must encode your Roll No. in the 
OMRAnswer-Sheet 

7. The OMR Answer-Sheet should be handed over
to the Invigilator before leaving the Examination Hall. 
You may take away the used Question Booklet after 
completion of the examination. 
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MENTAL ABILITY TEST 

(Questions 1-10) 

DIRECTION: In each of the questions 
1 to 10, there are four items, three of which 
are alike by some means or other while one is 
out of the class. Find out the odd item and 
give the answer by filling the circle of the 
letter denoting your selected answer on the 
O.M.R. Answer-Sheet.

( etaff 1-10) 

�& lC�l0ffl����� 
� <flITT � � .:it C<P��� \fl� \fl<f, 
��I \fl�����· 
� � � lfl<f, O.M.R. m� �

��'t� �ffi��I] 

1. (a) 73

(b) 53

(c) 59

(d) 87

2. (a) 427

(b) 396

(c) 671

(d) 264

3. (a) ACEG

(b) KMOQ

(c) SUWX

(d) IKMO

4. (a) Chocolate (6C<fS1CG11')
(b) Biscuit (�)

(c) Bread(�)

( d) Cake ( C<fS<l))

[ 3 ] 

5. (a) Patna(91fi;;n)

(b) Kanpur ("<fS!rf�)

(c) Lucknow(�)

(d) Lahore(�)

6. (a) Glass(�)

(b) Bottle(�)
(c) Tap(�)

(d) Bucket(�)

7. (a) Light year('51"�1<fS1�)

(b) Day(�)

(c) Decade(�)

( d) Minute(�)

8. (a) Valley(��)

(b) River(�)

( c) Mountain ( �)

( d) Dam (�t(f)

9. (a) Ears ("<fS!rf)

(b) Hands(�)

(c) Eyes(�)

( d) Fingers ('5lt\G1')

10. (a) 19

(b) 49

(c) 64

(d) 16
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(Questions 11-20) 
DIRECTION: Following questions are based 
on letter series. In each series some letters are 
missing. The missing letters are given in the 
proper sequence as one of the alternative. Find 
the correct alternative in each case and mark 
the right alternative on the O.M.R. Answer­
Sheet 
( eti!t 11-20) 

�g ������,��� 
� � �I � F1<1\Ctl� 1!1� � 
��·��1.-pl���I�� 
·�<ffi:f"<tS@O.M.R. ��m��"f
"<tS@ ���"<I\Brt I]

11. a_bbc_aab_cca_bbcc
(a) bacb
(b) acba
(c) abba
(d) caba

12. bc_b_c_b_ccb
(a) cbcb
(b) bbcb
(c) cbbc
(d) bcbc

13. abca_bcaab_aa_caa c
(a) ccaa
(b) acbb
(c) abac
(d) abba

14. _bc_ca_aba_c_ca
(a) bbbcc
(b) baaba
(c) abcbb
(d) abbcc

[ 4 ] 

15. mnonopqopqrs __
(a) oqrst
(b) mnopq
(c) qrstu
(d) pqrst

16. _stt_tt_tts_
(a) tsst
(b) tsts
(c) sstt
(d) ttst

17. gfe_ig_eii_fei_gf_ii
(a) ifige
(b) ifgie
(c) eifgi
(d) figie

18. px_pq_xpp_p_p_q
(a) ppqxq
(b) ppxqp
(c) pqxqp
(d) ppqxp

19. pil_o_p_ll_o _ _  lloo
(a) lippoo
(b) ollpio
(c) loopil
(d) loiopi

20. cvv _ _  c_vtt_v_t_
(a) ttvccv
(b) ctvvtc
(c) tvcctv
(d) ttvcvt
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(Questions 21-30) 25. 5, 6, 9, 14, 21,?
DIRECTION: In each of the following (a) 25
questions, a number of series is given with one (b) 27
of the terms missing. Choose the correct 

(c) 30
alternative in the position (?) that will continue 

(d) 32the same pattern and answer on the O.M.R. 
Answer-Sheet by filling the circle. 

(efl!t 21-30) 26. 71,55,46,42,?
� g � � ���,� ��� lf!<!SfG (a) 38
�,�<f!-f<Yf\Sm�1�,���(?)� (b) 39
�·� O.M.R. m���9ff't 

(c) 40
� �ffl�� I] 

(d) 41
21. 8,24, 12,36, 18,54,?

(a) 24

(b) 108 27. 4,9,20,43,90,?

(c) 27 (a) 180

(d) 72 (b) 182

(c) 179

(d) 185

22. 3, 7, 10, 17, 27,?

(a) 37 28. 3, 8, 11, 19, 30, 49,?
(b) 40 (a) 87
(c) 47 (b) 79
(d) 44 (c) 77

(d) 73

23. 1, 5, 14, 30, 55,?

(a) 80 29. 3,5, 10, 12,24,26,?

(b) 91 (a) 52

(c) 101 (b) 30

(d) 95 (c) 28

(d) 48

24. 7, 10, 8, 11, 9, 12,? 30. 2, 3, 5, 6, 7, 9, 10, 11, 13,?

(a) 13 (a) 12

(b) 12 (b) 15

(c) 11 (c) 14

(d) 10 (d) 16

[ 5 ] 
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(Questions 31-45) 

DIRECTION: In each of the questions 31 to 
45 a figure or a set of figure is given, each of 
which bears certain numbers following a 
certain pattern. You have to decipher this 
pattern and accordingly find the missing 
number in the figure and denoting your 
selected answer on O.M.R. Answer-Sheet. 

(efl!t 31-45) 

�& 31--45ffl�������I 
� m � � � �,� �'<t<ft � (}f'Sm

� 1 �� �,�m �'<t<ft �m �� � 

R�11>1�� � 1 � �� �� R�11>i��ro � 
·� O.M.R. ffl�� � �"t �
ffl��I]

31. 

7 

32. 

(a) 11

(b) 9

(c) 8

(d) 6

(a) 3

(b) 4

(c) 0

(d) 5

? 12 

[ 6] 

33. 

� 

� 

34. 

35. 

(a) 21
(b) 16
(c) 81
(d) 61

16 25 

36 64 

10 ? 

(a) 11
(b) 14
(c) 13
(d) 15

@!}_ 
� 

9 

81 

12 

@!I_ 
[I@] 

��� 

��\(2:J 
(a) 7
(b) 3
(c) 2

(d) 4
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36. 

� 
10 

� 

37. 

38. 

1 

(a) 17

(b) 20

(c) 27

(d) 30

(a) 80

(b) 54

(c) 44

(d) 98

10 

a_ 
[!IT] 

{:} 
7 

(a) 770

(b) 780

(c) 440

(d) 540

� 
17 

I: 1 101

[ 7] 

39. 

3 8 5 

5 60 2 4 480 3 6 ? 3 

2 5 1 

(a) 653

(b) 563

(c) 15

(d) 90

40. 

� � � 9) �?�

@ @ 0 

41. 

(a) 24

(b) 31

(c) 23

(d) 47

��� 

� 

(a) 20

(b) 21

(c) 23

(d) 24

��� 

� 
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42. 

3 

43. 

1 

44. 

4 5 

28 

9 

4 

9 

6 

(a) 50
(b) 123
(c) 275
(d) 84

2 

(a) 249
(b) 321
(c) 285
(d) 341

3 

8 20 

3 

6 

(a) 22
(b) 20
(c) 18
(d) 24

15 

? 

6 

44 

4 5 

91 

11 

? 

6 

? 

[ 8] 

45. 

? 9 

6 16 

4 36 

3 64 

(a) 3
(b) 4
(c) 8
(d) 6

(Questions 46-50) 
DIRECTION: Study the figure carefully and 
answer the questions from 46-50. The triangle 
represents doctors, the circle represents 
players and the ractangle represents artists. 

( eti!t 46-50) 

�g �ffl����<f,(46-50) 
� �� ffl 1fl'8 1 Ri�\Sf (triangle)� 
(doctors)� �� � � (circle) 
�(players)��� �I '¢fl��(.� 
(ractangle)� (artists)� ���I] 

D 

A 

46. How many doctors are both players
and artists? 

��.�'8��? 

(a) 6

(b) 8

(c) 4

(d) 3

APU
Highlight

APU
Highlight

APU
Highlight

APU
Highlight

APU
Highlight

APU
Highlight



47. How many artists are players?
������?
(a) 30
(b) 29
(c) 25
(d) 17

48. How many artists are neither players
nor doctors? 

�-fxmt,�<tt��? 
(a) 29
(b) 30
(c) 22
(d) 8

49. How many doctors are neither players
nor artists? 

��. �<tt-fxmt�?
(a) 17
(b) 30
(c) 8
(d) 19

50. How many players are neither artists
nor doctors? 

� � -fxmt <1t � C<rfer!�

(a) 22
(b) 4
(c) 25
(d) 3

[ 9] 

(Questions 51-60) 
DIRECTION: In each of the questions 51 to 
60, three out of four figures are alike in same 
respect and one is different from others. Find 
out the odd figure in each question and 
indicate your answer by filling the circle of the 
letter denoting your selected answer on the 
O.M.R. Answer-Sheet.
(efl!t 51-60)
� & 51 c� 60 ffl �m �C�<ti\'G� 
(Yflem � � �� � �--n��tc1 
<!1� <!1<1", �ffl C� � I � � <!1� 
� � � <p@ � � � � <!1<1", 
O.M.R. ffl� � 'f8 9ff9 <p@ � ffl

��I]

51. 

(a) 

52. 

(a) 

53. 

I 

s:a 
I 

(a) 

(b) 

(b) 

R 
- - - -

� 

(b) 

(c) 

(c) 

I 

P:9 
I 

(c) 

(d) 

(d) 

Q 
- - - -

0 

(d)
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54. 

(a) (b) (c) (d)

55. 

(a) (b) (c) (d)

56. 

l8lalol□ I

57. 

58. 

(a) (b) (c) (d)

(a) (b) (c) (d)

(a) (b) (c) (d)

59. 

(a) (b) (c) (d)

60. 

(a) (b) (c) (d)

(Questions 61-85) 

DIRECTION: In each of the following 

Questions select a figure from the four 

alternatives which placed in the blank space of 

figure would complete the pattern. Indicate 

your answer by filling the circle of the letter 

denoting your selected answer on the O.M.R. 

Answer-Sheet. 

(�61-85) 

�& �61c�85m�m� 
���c��m����'l� 
���m� o.M.R.m�f-WIB'fe 
�'t��ffl�<ffil't !]

[ 10] 

61.�

(a) □ 
(c) □ 

(b) □ 
(d) □
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62. 

(a)�

(c)
0 

63.

� 

(a)�

(c) □

M
.

� 

(a)§

(c) �

65. 

66. 

(
b) �

(d) �

67. 

(b) IT:d

(d) �

[ 11 ] 

I) J

(a) EE
(c) �

(a) E:J

(c) EJ

� 
. 

(a)[!] 

(c)[!'.J 

(b) E!E
(d) 00

(b)�

(d) EJ

(b) �

(d) !El
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�- � 

71. [fil] 

(a)['.s] (b)�
(a) EJ (b) �

(c)� (d)[SJ 

(c) 0 (d) 0

69. 
72. 

� 

(a)@ (b)@ 

(a) w (b)
� 

(c) 
m 

(d)a;7

(c)@ (d)@

73. 

Err, 
70. 

(a)� (b) � (a)� (b)�

(c) [EJ (d)@] (c) E9 (d) []J
[ 12]
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74.�

77. 

� 

(a)� (b) � (a) Ll (b) �

(c) [] (d) Bl] (c) bj (d) E3

78. 

75. �

(a)� (b) � (a)�
(b

) L§] 
(c) � (d) � (c) � (d) �

76. �

79. �

0 0 

0 

(a) I§ (b) � (a)� (b) �

(c) m (d) w (c) � (d) [rnfl
[ 13]
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80. 
17 "I 17 "I• • 

L'.'.I 

17 • ? � L'.'.I 

(a) [J (b) □
(c) I/· '71� L'.'.I 

(d) I�· �I

81· 

I ✓ I i I 1 1 � 1 

l�l?ltlil
(a) (b) (c) (d)

82
• I N I � I ? I itW I

INiJI l{1 IU11I � I
(a) (b) (c) (d)

83.
I (\ I J) I 1 I � I

1�1�1�1�1 
(a) (b) (c) (d)

84.
l<ILl□I ?

101010101 
(a) (b) (c) (d)

85
• ll@ll�l�I 1 I

II@ll�ll@III@ll
(a) (b) (c) (d)

(Questions 86-90) 

DIRECTION: In each of the questions 
86 to 90 same codes have been used to write 
words. Try to find out the rule of coding in 
each case and answer as per direction in the 
O.M.R. Answer-Sheet.

( eta!t 86-90) 

� & 86 c� 90 m � �� ca;f�

� � j'f,� � � � I $t � 
�m��1�c.:i� � 1511;},j�lr! � � � �1, 
·� O.M.R. m�� � 9ff"t �
�mHooi1��11

86. In a coding system TIE=34,
NOW=52 then what will be code for WAX=? 

�<fSfflj'f,�� TIE=34, NOW=52, 
�WAX=?��j'f,���? 

(a) 47
(b) 46

(c) 48

(d) 45

[ 14]
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87. In a certain code 'PLAY' is written
as 'TPEC'. How could 'GAME' be written in 
that code? 

wt � �,c.��rnc.--1 'PLA Y'-C<f) 
'TPEC' ��. � 'GAME'-�ca-r��­

(a) KEQA

(b) KIQE
(c) KAQI
(d) KEQI

88. If 1 is coded as F, 2 as P, 3 as X, 4 as
Z, 5 as B, 6 as W, 7 as L, 8 as U and 9 as D. 
How would 853417 be coded in that code? 

wt��,��l�F,2�P,3 
�X,4�Z,5�B,6�W, 7�L,8�U�<f, 
9 � D � �. � 853417-� � �-

(a) UBDXZF
(b) UBXDFL
(c) UBXZFL
(d) UDXZFL

89. lfE = 5 and HEN= 27, then PET=?

wt E = 5 �<f, HEN = 27 �. �
PET=? 

(a) 28
(b) 52
(c) 41
(d) 31

90. If cloud is called white, white is
called rain, rain is called green, green is 
called air, air is called blue and blue is called 
water, where will the birds fly? 

wt cloud � white <fG'ft �. white � 
rain <fG'ft �.rain� green <fG'ft �.green� air 
<fG'ft�, air� blue <fa,t� �<f, blue� water<fG'ft 
�. � � �'<t'rn �? 

(a) Water
(b) Blue
(c) Air
(d) Cloud

[ 15 ] 
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GOVERNMENT OF WEST BENGAL 

DIRECTORATE OF SCHOOL EDUCATION 

CENTRALLY SPONSORED NATIONAL MEANS-CUM-MERIT SCHOLARSHIP 

EXAMINATION, 2022 

(FOR STUDENTS STUDYING IN CLASS VIII) 

Scholastic Aptitude Test 

-)[b<IS� 
Class-VIII Code State Code Year Code Centre Code Serial No. 

RollNo. [J rn IT] [II] [IIJ 
Full Marks: 90 91.¢n;r g �o 

Time: 90 minutes ( 1-00 PM to 2-30 PM)

Instructions to Candidates 

� g �o � (� )-00� c� � �-1!)0 �) 

�� � MC'f-'11,q� 
Read the instructions carefully before you start 

answering the questions. Answers are to be given on a 
OMR Answer-Sheet provided. 

1. In this Paper you are to answer 90 questions.
Each question carries l(one) mark. You are to answer 
all the questions. 

2. Before you proceed to mark in the OMR
Answer-Sheet find out the correct answer from the four 
alternatives (a), (b), (c) and (d) against each question in 
the Question Booklet. Darken the circle with a Black 
Ball Point Pen, to the corresponding correct answer for 
the item in the OMR Answer-Sheet. 

Example: G) • @ @) 
(Here 'b' is the correct answer.) 

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrong 
answer. 

4. There will be no penalty marks or negative
marking for a wrong answer. 

5. You are to start recording answers with the
'start' instruction from the Officer-in-Charge of your 
room/hall. 

6. You are to write your Name and Roll No. in
the space provided with for this purpose on the OMR 
Answer-Sheet You must encode your Roll No. in 
OMR Answer-Sheet. 

7. The OMR Answer-Sheet should be handed
over to the Invigilator before leaving the Examination 
Hall. You may take away the used Question Booklet 
after completion of the examination. 
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Mathematics 

1. If m = ✓7 +✓7 +.j7 + ..... to oo

n= ✓7-✓7-✓7-..... tooo, then

(a) m=n

(b) m-n=l

(c) m+n=l

(d) m-n=-l

2. The simplified value of

(0·362)
3 

-(0·01)
3 

--------- IS 

(0·362)
2 

+ 0·00362 + (0·0001)

(a) 0·352
(b) 0·262
(c) 0·252
(d) 0·632

and 

3. The salary of a man is decreased by 50%
and then in the next year it is increased by 60%, 
then the resultant increment of his salary is 

(a) 10%
(b) 15%
(c) -20%
(d) -25%

4. In a four-digit number 4x56, x is
unknown. The number is divisible by 33. Then 
the value of x is 

(a) 3

(b) 4

(c) 5
(d) 6

5. With an average speed of 40 km/hour, a
train reaches the destination on time. If it runs 
with average speed 35km/hour, it is late by 
15 mins. The length of the total journey is 

(a) 30km
(b) 180km
(c) 40km
(d) 70km

[ 3 ] 

ffi 

1. <TN m= ✓7+✓7+.j7+ ..... oo lfl<l,

n= ✓7-✓7-✓7- ..... oo �'Wf

2. 

'$l� 

(a) m=n

(b) m-n=l

(c) m+n=l

(d) m-n=-l

3 3 
(0·362) -(0·01) 

2 
-<.!I� )j<;1G'j�� 

(0·362) + 0·00362 + (0·0001) 

(a) 0·352
(b) 0·262
(c) 0·252
(d) 0·632

3. lfl<f) � � 50% � c�, � �

�60%�C9W1����� 
(a) 10%
(b) 15%
(c) -20%
(d) -25%

4. � � ')'J",� 4x56-<.!i"<!l" �<:fJ x-<.!1"<!1" '$l
� 1 ')'J",� 33 � � �. x-<.!1"<!1" '$l �

(a) 3
(b) 4

(c) 5
(d) 6

5. lf!<t$ cg., � 40 km/hour���
� � Cffl I <IN � � 35 km/hour�
'iWf 15��C�I�����

(a) 30km
(b) 180km
(c) 40km
(d) 70km
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6. The number ( a + ✓b) [ where b is not a
perfect square] is equal to its own reciprocal. 
Then the value of b is 

(a) 0
(b) 5

(c) 7

( d) cannot be said

7. The H.C.F. of two natural numbers a
and bis hand their L.C.M. is l, then the value 
of a2 +b2is [Given, h +l=a+b]

(a) h3+l3 

(b) h+l

(c) h2+l2

(d) h3 -l3 

8. The measures of a pair of corresponding
angles formed by the section of a transversal 
and a pair of parallel straight lines are (2x+65)0

and (6x-35)0
• Then the value of xis 

(a) 25°

(b) 30
(c) 25
(d) 40°

9. If 2x=3y=4z, then x :y :z will be
(a) 4: 6: 3
(b) 6: 4: 3
(c) 3: 4: 6
(d) 6: 3: 4

10. The remainder, when (x3 + 3x2+ 3x + l) is
divided by (x -1), is 

(a) 1
(b) 0
(c) 2

(d) 8

[ 4 ] 

6. (a+ ✓b) [ � b 9t�r;f-rn] ')'[,� �

'51C--lJ1--lJC<!S-i1 � I �, lh!i� -m-, � 

(a) 0
(b) 5

(c) 7
(d) ��-rn

7. � ��1M<tS Jt,� a -e b--<fl� r,t:�t.�. -e -a;-:�rt.�.
<T� h -ell Wfi8�g h +l=a+b,�T:<f.

a2 + lr--<fl� -m-, �

(a) h3+l3 

(b) h+l

(c) h2+l2

(d) h3 -l3 

8. ���� �� �!r<Pffl � ��

� ��91:l �9t C<Pt't � -m-, � (2x+65)0

-!l<f, (6x-35)0
; � x--<fl� -m-, �

(a) 25°

(b) 30
(c) 25
(d) 40°

9. � 2x=3y=4z�, � x:y:z�

(a) 4: 6: 3
(b) 6: 4: 3
(c) 3: 4: 6
(d) 6: 3: 4

10. (x3+3x2+3x+ 1)-c<P (x-1) � '5t'if �
'5t�m� 

(a) 1
(b) 0
(c) 2

(d) 8
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is 
11. The number of diagonals of an octagon

(a) 12
(b) 18
(c) 10
(d) 20

12. The value of
I I I I . 

✓l + ✓
2 +✓2 

+ ✓
3 +✓3 

+ ✓
4 + ····· + 

✓80 + ✓81 IS

(a) 9
(b) 7
(c) 8
(d) Jso

13. If r be real and ✓,. + l = 2 , then the

value of r 2022 
+ r -2022 is 

(a) 2

(b) 0
(c) 1
(d) -1

14. If a + b + c = 0, then the value of
(a4 

+ b4 
+ c4 ) + (a2b2 

+ b2c2 
+ c2a2 ) is 

(a) 0
(b) 1
(c) 2
(d) -1

15. 

See the above figure and find x.

(a) 72°

(b) 54°

(c) 36
(d) 54

[ 5 ] 

11. �<!$ 151���'!1 <ll'f" �,� �
(a) 12
(b) 18
(c) 10
(d) 20

I I I I 
12. ✓I +✓2 +✓2 

+✓3 + ✓3 

+✓4 +·····+ .Jso +✓81

--!I���

(a) 9
(b) 7
(c) 8
(d) Jso

13. r�<!Sffl��,��<f, ✓,. + l =2 .�

r 2022 
+ r -2022

---!I
� � � 

(a) 2

(b) 0

(c) 1
(d) -1

14. �a+b+c=0�,�
(a4 

+ b4 
+ c4 ) + (a2b2 

+ b2c2 
+ c2a2 )--!I��� 

(a) 0
(b) 1
(c) 2
(d) -1

15. 

�� W � x--!I� � Ff'rn � I

(a) 72°

(b) 54°

(c) 36
(d) 54
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16. If a, b, c, x, y, z are real and
(a-bx)2+(b-cy)2 + (c-az)2= 0, then the value 
of xyz is 

(a) 0

(b) 1

(c) -1

(d) abc

17. L.C.M. of two prime numbers x, y
(x > y) is 161. Then the value of 3y - x  is 

(a) 62

(b) 2

(c) -2

(d) -5

18. In the AXYZ, XY =15 cm,:rz =112 cm ,
ZX = 113 cm. The right angle will be at 

(a) X
(b) y
(c) Z
(d) None is a right angle.

9n 
X 35 

X (27)3 

19. If
4 

= 27, then the value of 
3 X (81) 

n is 
(a) 0
(b) 2
(c) 3
(d) 4

20. a*b=2a-b (given), then the value of

2022*2011 
---- IS 

100*99 
(a) 1024
(b) 2
(c) 4102
(d) 100

[ 6] 

16. <IN a, b, c, x, y, z �<f � �<f� 
(a-bx)2+ (b-cy )2 + ( c-az)2 = 0 �. 'Wf xyz--<.!l� 
�� 

(a) 0

(b) 1

(c) -1

(d) abc

17. ����� X'S y (X > y)--\!l��-�-�- 161
�. 3y - x--\!l� � � 

(a) 62

(b) 2

(c) -2

(d) -5

18. AXYZ �� XY = 15 cm, fZ = 112 cm,
ZX = 113cm �.>!�(.<IS�� c:<r � � 
� 

(a) X
(b) y
(c) Z
(d) ����'f-ffil

9n 
X 35 

X (27)3

19. <IN
4 

=27�,'Wfn--\!l��� 
3x(81) 

�� 

(a) 0
(b) 2
(c) 3
(d) 4

(a) 1024
(b) 2
(c) 4102
(d) 100
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Physical Science 

21. Which of the following relation is
correct? 

(a) Applied force= Mass of the body
x its acceleration

(b) Applied force = Mass of the body
-:- its acceleration

(c) Applied force= Mass of the body 
x its velocity

( d) Applied force = Mass of the body
-:- its velocity

22. In which temperature density of water
is maximum? 

(a) 4°F
(b) 32°F
(c) 39·2°F
(d) 98·6°F

23. If an object is placed in between two
plane mirrors kept parallel and facing each 
other, then the number of images formed will 
be 

(a) Three
(b) Two
( c) lnfini te
(d) Five

24. Which of the following compound is a
weak electrolyte? 

(a) NaOH
(b) CH

3
COOH

(c) H
2
S0

4

(d) NaCl

25. Frictional force acts
(a) at an angle 45° to the force applied.
(b) in opposite direction to the force

applied.
( c) at right angle to the force applied.
( d) in the same direction to the force

applied.

[ 7 ] 

21.���·?

(a) •�=��x�"I

(b) •�=��-=-�"I

(c) •�=��x�'if

(d) •�=��-=-�'if

22. ����ffll:f<p?
(a) 4°F
(b) 32°F
(c) 39·2°F
(d) 98·6°F

23. ,rffl�-r9f'"l����M���
����\fl�� m�, � �Nif<bt-s1 
�,�� 

(a)�

(b) ,rffl
(c) �,�

(d) �

24. ���ffl���'fl���?
(a) NaOH
(b) CH

3
COOH

(c) H
2
S0

4

(d) NaCl

25. '<l<l"I � � �

(a) •��45° �"11
(b)•��•m1
(c)•���"II

( d) • � \fl<P"� 15lN,�c:4 I
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26. 'X' is an element. Atomic number of
'X' is 82. Which of the following will be an 
'isotope' of 'X'? 

(a) 235u
92 

(b) z31Th
90 

(c) zospbs2
(d) 2H

l 

27. Heat required to melt 12 gm. of ice at
0°C into water completely is - (latent heat of
fusion of ice is 80 cal/gm.) 

(a) 690 Calorie
(b) 700 Calorie
( c) 940 Calorie
( d) 960 Calorie

28. If the value of critical angle be 80°

during refraction of light from denser to rarer 
medium, then the value of angle of refraction 
will be 

(a) 80°

(b) 70°

(c) 90°

(d) 0° 

29. An equilateral triangle is formed with
three identical rods of same metal. If the 
triangle is heated uniformly, 

(a) there will be no change of the
angles of the triangle.

(b) there will be no change of the
length of the sides.

( c) there will be no change of the area
of the triangle.

(d) None of the above

[ 8] 

26. 'X' 1!1<1$ � I 'X'-<fl� �ffl.�K�ITT 82 I
'X' -<fl� 1!1<1$ ���!WM� 

(a) 235u
92 

(b) z31Th
90 

(c) zospbs2
(d) 2H

l 

27. 12 � � 0°C-<fl 'ifMV.P1""9i_'Bfil9f �
9®� � �9f G1'ft;fV:f (� � �9f = 
80�®/�) 

(a) 690 <f)J!wf!RI
(b) 7 00 <f)J!wf!RI
( C) 940 <f)J!w[IRf
( d) 960 <f)J!wf!RI

28. � �� c� � �� � �'1--<fl�
� ��� C<Ptt� � goo �. �"f C<Ptt� � 
� 

(a) 80°

(b) 70°

(c) 90°

(d) 0° 

29. �\fl������ 1£)<1$
� Q�\Sf .,���I fJi�\SffGC<tS � � 

(a) Q�<.\Sf� C<tS'f�ffl � ��;ii I

(b) Q�c.\Sf��m���
�.iii

( c) fJi�C\Sf� C�<l>(.&l� � ��;ii I

( d) �� �� -TT!
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30. The vertical component of the Earth's
magnetic field is zero at the 

(a) magnetic pole.
(b) magnetic equator.
( c) geographic pole.
( d) 45° latitude.

31. Two bodies are in thermal equilibrium.
They have identical 

(a) thermal capacity
(b) specific heat
(c) mass
(d) temperature

32. To electroplate an iron spoon with
Nickel, which of the following should be taken 
as anode? 

(a) Iron spoon
(b) Nickel rod
( c) Aluminium rod
( d) Graphite rod

33. Zn2+ + 2e- ➔ Zn, this is

(a) an oxidation reaction.
(b) a reduction reaction.
( c) a combustion reaction.
( d) an endothermic reaction.

34. Fuse wire is made of

(a) Iron and Nickel

(b) Lead and Nickel

( c) Lead and Tin

(d) Tin and Iron

[ 9 ] 

30. �-;ti"ii<I\C'lf>C�-$1 � ffl �91t,xt 1oU �

(a)��

(b) � H-$1'lf>C'$1'</m

(c)���

( d) 45° �,vet

31. ����� �. � � �
�(!l��? 

(a) �9t�

(b) �� �9t

(c) �
(d)��

32. ��HC<I\CGi-$1 �9(���

'61JIC�t\5�m�? 

(a)��

(b) ��
( C) �la,ffeH�� �
(d)��

33. Zn2+ + 2e- ➔ Zn, (!lt (!l�

(a)�'t�I
(b) �'t f<lmi I
(c)��I
(d) �9t� f<!mi I

34. ����

(a) � '8 � mm

(b) �'S�mm

(c) �'S�mm

(d) �'S�mm
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35. The number of electrons present in 'L'
shell of 35Cl

17 
is 

(a) 2
(b) 7
(c) 8
(d) 17

36. What will be the volume of Oxygen
formed if 120 ml. of Hydrogen is obtained 
during the electrolysis of water? 

(a) 60 ml.
(b) 120 ml.

(c) 200 ml.

(d) 240 ml.

37. Number of Covalent bonds in Carbon-
tetrachloride molecule is 

(a) 1
(b) 2
(c) 3
(d) 4

38. The main greenhouse gas is

(a) Methane
(b) Water vapour

( c) Nitrous oxide

( d) Carbon dioxide

35. 35Cl
17

--lfl� 'L' ����a,�;i >t,��

(a) 2

(b) 7

(c) 8

(d) 17

36. ����9����®1<.iSf(.--1-i1 �
120 ml. �'6�����'5lffi(.iSf(.r1-i1 ��? 

(a) 60 ml.

(b) 120 ml.
(c) 200 ml.

(d) 240 ml.

37. ���Bf�'5f�>t�<.<l��>t,�­
(a) 1
(b) 2
(c) 3
(d) 4

38. ������

(a)��

(b) ��
(c) ��
(d) � \5�'51��
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Life Science 

39. ORS [Oral Rehydration Solution] is
used for the treatment of 

(a) Cholera
(b) Malaria
( c) Cornea transplantation
( d) Cardiac arrest

40. The tissue present in the zone of growth
and elongation of plant roots is 

(a) Parenchyma
(b) Collenchyma
( c) Sclerenchyma
( d) Meristematic tissue

41. If Primordial U tricle is present in a cell,
it belongs to 

(a) Bacteria
(b) Protozoa
(c) Fungi
(d) Plant

42. The food component which is present
in large amount, in soyabean is 

(a) Carbohydrate
(b) Protein
(c) Lipid
( d) Vitamin

43. Nicobar Islands of India belong to the
Hotspot 

(a) Sundaland
(b) Western Ghats
(c) Indo-Burma
(d) Eastern Himalayas

44. If we see node-internode axil and flower
buds in a plant part, it can be termed as 

(a) Root
(b) Leaf
(c) Stem
(d) Seed

39. e<r �� ffl�$T ORS [1 8� �®"f.t
�'t]��.�� 

(a)�
(b) �1 Ca-JBl�1 

(c)���
( d) �1 fZs'� t<fi '5131 c� >l;

40. � � �� '¢[�zyf e<r � �. �
� 

(a) 9IT1�--i<tS�t
(b) C<tS1CG'Jr1<tS�
(c) c��--i<tS�1
(d)��

41. � <-!1<1$ C<tSW'f <TN ���N,�IGi �(J;ffi<tSa-i
���.���� 

(a) <U1<tSfflRim�
(b) C�t"CGl'Us'rl�t <lt ���
(c) �1C<tS�
(d) �

42. e<r �-�� �1MC-'1 '51"f� �'t �.
�� 

(a)�
(b) c�

(c) �91\S
(d) �U1�--i

43. �1�c�� HC<tS� '¢f�a-JJt<s e<r � ��
�� 

(a) �ta'U1�
(b) 91fib��n, 91<1��1Gi1
( C) �-<fl.TT
(d) 'ff-�

44. � <-!1<1$ '¢!,V't �� 9f<f-.m�, � <-!l�,
���<Im.��� 

(a)�
(b) �
(c) *
(d) �

[ 11 ] 
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45. Anther contains
(a) Pollen grains
(b) Ovule
(c) Ovum
(d) Stamen

46. In which of the following diseases
platelet count drastically decreased? 

(a) Malaria
(b) Dengue
(c) Plague
( d) Tuberculosis

47. Eskimos live in
(a) Desert
(b) Rain forest
(c) North pole
( d) South pole

48. Diatom is
(a) Unicellular algae
(b) Multicellular algae
(c) Unicellular animals
( d) Multicellular animals

49. Cinnamon is actually
(a) Bark of stem
(b) Fruit
(c) Seed
(d) Leaf

50. The blood component which protect us
from disease is 

(a) Red blood corpuscle
(b) White blood corpuscle
(c) Plasma
( d) Platelet

45. 9/m'if� �
(a) 9/m�'l
(b) �
(c) �'1
(d) 91��

46. � cm�m ����'>I 'bl-J:6Ri-<tit
<qt r.g/&cai<.U-!1 ������<Im? 

(a) �JICG1�?it
(b) �
( C) C'A'if
(d) �

47. L!lw-tm��
(a) �'!1-��C-!l
(b) �<re-,(��)
(c) :>J,�'!1-C\!l
(d) 1�'!1-C\!l

48. ��
(a)L!l��
(b)��
(c) L!l� ��
(d) ���

49.���
(a) �"'!1" �<qt�

(b) <fG'f
(c) �
(d) �

50. � C<T �� ��lo-t-!1 cm'if �m c�
�'<I\@,�� 

(a)��
(b) ��
(c) �
( d) <.5l-J:6R!-<til 

[ 12]
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51. Which of the following hormones is
known as emergency hormone? 

(a) STH
(b) Insulin
( c) Thyroxine
( d) Adrenaline

52. Curcumin compound is found in
(a) Cinnamon
(b) Turmeric
( c) Cardamom
(d) Ginger

53. Brain of cell is
(a) Nucleus
(b) Mitochondria
(c) Plastid
( d) Golgi bodies

54. Which of the following is the example
of ex-situ conservation? 

(a) Sanctuary
(b) National Park
( c) Reserve Forest
( d) Botanical Garden

55. An animal where Jacobson Organ is
present is 

(a) Dog
(b) Ant
(c) Human
(d) Snake

51. � �ffi �� C<ISM �3:IOll--lf&C<fS
@B1<fS1�--l � �? 

(a) STH
(b) �--l>JFi--l
(c)�
(d) �lNH�--i 

52. <P1<!1r$tf;�;i 8ft'>\ffl �� � 
(a) >th¥IBf.k�
(b) �
(c) ��
(d)�

53.���
(a) Htf;@M>i
(b) ��c.'Gl<t>§,m
(c) �
(d) �<ffi

54. �� �m �� � ��-�
�,�'Bf�'f? 

(a)�'IJ
(b) ��
(c) �,��
( d) �1H<t>Jta1 �

55. C<r �� � (.'8f<fS<1:>i--l �� � �, �
� 

(a)�
(b) R�

(c) �

( d) �91

[ 13]
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History 
56. 'Permanent Settlement' was introduced

by 
(a) Lord Canning
(b) Lord Wellesley
( c) Lord Cornwallis
( d) Lord Wavel

57. The first session of the Indian National
Congress was presided by 

(a) Surendranath Bandyopadhyay
(b) Womesh Chandra Banerjee
( c) Rashbehari Ghosh
(d) Dadabhai Naoroji

58. The author of the book'Chaitanya-
charitamrita' was 

(a) Brindaban Das
(b) Rup Goswami
( c) Krishnadas Kabiraj
( d) Sanatan Goswami

59. 'Dhaka Anushilan Samity' was
established by 

(a) Aurobindo Ghosh
(b) Pulinbehari Das
( c) Ullaskar Dutta
( d) Hemchandra Kanungo

60. Telengana peasant movement was
occurred in 

(a) Hyderabad
(b) Andhra Pradesh
( c) Tamilnadu
( d) Kamataka

61. 'Dual System of Government' was
abolished in 

(a) 1765 A.D.
(b) 1773 A.D.

(c) 1772 A.D.

(d) 1776 A.D.

lf�� 
56. '16-i1� <1C"'t�' � �

(a) G'j\5�,

(b) G'j'5 �C�C&P-1�

( C) G'j\5 �mm

( d) G'j'5 -e�

57. �ifuf � �,"C� �$f ��
��� 

(a) �c:!1tft--1M �91'1�

(b) ��"16tff �
( C) �l>iR$ C<l1<l

(d)��

58. 'c6�--1J6H1��' � � �

(a)��

(b) �9tc�

(c) � <tiR-i1�

(d) �c�

59. � � �' � �

(a) �C<l1<l

(b) 9ffei.:iR$�

( c) �l>l<ti-i1 lf8

( d) � �'m

60. c�cait><tt-n �� '5l�t&R �

(a) �PIM

(b)��

( C) �jµJG'J--11\SC�
4-

( d) ��

61. ���,��

(a) 1765�

(b) 1773�

(c) 1772�

(d) 1776�

[ 14]
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62. 'Jatiya Mela' or 'Hindu Mela' was
initiated by 

is 

(a) Debendra Nath Tagore
(b) Raja Rammohan Roy
( c) Swami Vivekananda
(d) Nabagopal Mitra

63. The editor of 'Hindu Patriot' was
(a) Harishchandra Mukherjee
(b) Surendranath Bandyopadhyay
( c) Iswarchandra Vidyasagar
( d) J runes Augustus Ricky

64. 'Mahalwari' system was introduced in
(a) Eastern India
(b) South and South-West India
(c) North and North-West India
(d) Punjab

65. Who was known as 'Frontier Gandhi'?
(a) Khan Abdul Gaffar Khan
(b) Maulana Abul Kalam Azad
(c) Chittaranjan Das
( d) Aurobindo Ghosh

66. The Upper House of Indian Parlimnent

(a) Rajya Sabha
(b) Lok Sabha
(c) Bidhan Sabha
( d) Bidhan Parishad

67. 'Alai Darwaja' was built by
(a) Sher Shah
(b) Alauddin Khalji
(c) Ghiyasuddin Tughluq
( d) Muhammad bin Tughluq
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62. � OMi' 11 � OMi' �� �
(a) o-tC<li!t--11'4 �
(b) � �1��� �
(c) � Rc.<1<!i�
( d) �'m9liG1 �

63.��·���
(a) ��911�
(b) �c:!li:ft--!M �911�
(c) ���
(d)�'5!��

64. ��· <IC"'t� � �
(a)��
(b) �'t -s �'t-� �
(c) ffl'Sffi-��

(d) 911�

65.��·���
(a)����
(b)����
(c) �@frf'Ttxt

(d)��

66. �1<!1®� J'f,� \J;b6<fiC'lf>-!1 �
(a) �liStPi�I
(b) Ciitl<fi>!�I
(c)"R-�
( d) "R-<fr-l �

67. ���·�'t�
(a) cxrnx1�
(b) '5!tiit1\J;�;i �
( C) f;Ul1>1\J;�;i �
(d) ���
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68. 'Ain-1-Akbari' was written by
(a) Badauni
(b) Gulbadan Begum
(c) Abul Fazal
( d) Amir Khusro

69. The Precursor of Indian Civil Service
was 

(a) Lord Hastings
(b) Lord Cornwallis
(c) Lord Mayo
( d) Lord Elgin

70. The Partition of Bengal was revoked on
(a) 12th November, 1911
(b) 12th December, 1911
(c) 16th July, 1905
(d) 16th October, 1905

71. 'The Prarthana Samaj' was founded by
(a) Keshab Chandra Sen
(b) Atmaram Pandurang
( c) Mahadev Govind Ranade
( d) Kandukuri Veeresalingam

72. The last Peshwa of the Maratha Empire
was 

(a) Balaji Biswanath
(b) Bajirao I
(c) Bajirao II
(d) Shivaji Maharaj
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68. �-�-'5f1�<1m' � �

(a)�
(b) ���$T

(c) ��
(d)��

69. � �G'j J-11�:>j-$1 �

(a)��,'>!"
(b) ��mm

(c) ��
(d) � �G'jf<;j.l

70. ����
(a) 12 �. 1911

(b) 12 N,C>l�-$1, 1911

(c) 16� 1905

( d) 16 '61C�l<1<$1, 1905

71. •�(.,( �· � �

(a)��

(b) '5f�81"��
(c)�C��

( d) <!)1-i!<fiR1 .f1 '$1 >11 fdl bl�

72. � '>1"1ti'1CiSf3'$1 � C� �

(a) ��Qf

(b) �$l�

(c) ��'8

(d) ��
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Geography 

73. Christmas is celebrated in ___ _
season in the south hemisphere. 

(a) Summer
(b) Autumn
(c) Winter
(d) Spring

74. Which is known as the 'roof of the
world'? 

(a) Mount Everest
(b) Mount Karakoram
( c) Pamir Plateau
(d) Ladakh Plateau

75. Gorge is formed by ____ course
of a river. 

(a) Upper or Mountain
(b) Middle or Plain
( c) Lower or Deltaic
( d) All of the above

76. When the local time of a place is 4 p.m.,
the Chronometer shows 6 a.m. of that day. 
Then what is the longitude of that place? 

(a) 160° West
(b) 150° West
(c) 150° East
(d) 30° East

77. The process of self-restoration of
damaged environment is called 

(a) Homeostatic mechanism
(b) Chemical mechanism
(c) Heterostatic mechanism
( d) Mechanical mechanism

78. One north-flowing river in Asia is
(a) Indus
(b) Ob
( c) Irrawaddy
(d) Yangtze

73. m"f c'>!Mtt( 1C'(,tM� _ ___ �
�<fim�I

(a)� 
(b) ��
(c) �
(d) �

74. ·,r��·��C<li?
(a)���
(b) <fSG:!�811� �

(c) ��ta,��
(d)���

75. ���ffl _ _ _  �I
(a) �"<1"'1�
(b) ��"<1"'1�
(c) frffl "<1"t <f-�9f
( d) �91BR:l �<1<fS�

76. ����< [��4(:ij,��
c!t'C�t�'C,t��:P' lmf ' 6� w-:f � 61,'f I�� <fS\5? 

(a) 160° �
(b) 150° �
(c) 150° 9t(
(d) 30° 9t(

77. �� � � c� � �
��-

(a) �� �<tStHiat�
(b) C<fS�<fSJtGi �<fStHiSt�
( C) C�l&(jlj)lj)ff&<fS C�<fSf HiSt�
(d) �tH<tSJfG'l �<tStHiSr�

78. �fic!m � �<flffl t5-e-!1<1t�otl ffl .:mi�
(a) �r1lf
(b) '6<1"�

(c)��
(d) ����
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79. Suej Canal is an artificial waterway
which connects the 

(a) Atlantic Ocean and Pacific Ocean
(b) Indian Ocean and Red Sea
( c) Mediterranean Sea and Red Sea
( d) Indian Ocean and Atlantic Ocean

80. 'International Court of Justice' is
located in ____ city. 

(a) Amsterdam
(b) New York
( c) The Hague
(d) Venice

81. Primary waves passes through­
(a) Gaseous
(b) Solid
(c) Liquid
( d) All of the above

82. Who first invent 'Continental Drift
Theory'? 

(a) Pichon
(b) Wilson
( c) Alfred Wegner
(d) Parker

83. 'Fossil' is found in
(a) Igneous rock
(b) Sedimentary rock
( c) Metamorphic rock
(d) All of the above

84. Monsoon wind is a type of
(a) Local wind
(b) Planetary wind
( c) Periodical wind
(d) Irregular wind

79. ����9f��� �I <.!11°6

��-

(a) ='5!=�=-1=R,'-=<ll��'6 ���
(b) ����'6���
(c) ��� '6 � ��
( d) �� �� '6 '5!�1R,<ll ��

80. ''5!11&iSf1Fb<ll Rt>1<!!1iii�' _ _ __ �
�I 

(a) '5!1��8115\�
(b) �ffl

(c) ifJ �t;f
(d) �

81. ������C<!��­
(a) �
(b).
(c) �
(d) �� >l<l<ll�

82. ��"I�· �$T � C<f)?

(a)�
(b) l&�iii>i�
(c) '5!1ii1W15 '6U

T

� 

(d) 9f1ffl

83. �·�<Im
(a) '5ltt®�
(b)��
(c) ���
(d) �� >i<l<llfGCs!i�

84. ·� � � <fl<p�
(a) �<ffil
(b) �<ffil
( C) � <ITTI_
(d) <:blH��� <ITTL
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85. The rainfall is measured by
(a) Seismograph
(b) Raingauge
(c) Barometer
(d) Hygrometer

86. The home made by Eskimo in winter
season is called 

(a) Igloo
(b) Tupic
(c) Kayak
(d) Harpoon

87. In which year 'Chipko Movement' was
held? 

(a) 1960
(b) 1963
(c) 1970
(d) 1973

88. The main river in Nepal is
(a) Kaligandok
(b) Meghna
(c) Irrawaddy
(d) Manas

89. 'The Slaughter House' of the world is
(a) Chicago
(b) Duluth
(c) Patna
(d) Bafello

90. The grazing land of Pampas grassland
is known as 

(a) Granchako
(b) Estensia
(c) Lanos
( d) Matograsso
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85. ���9f��
(a) moo�

(b) ��
(c) '1J1c.�1fm;I@
(d) �

86. �f¾.o:iwrn ���1c11� �� <IB'f
(a) �'ifGl
(b)mf�

(c) �
(d) $9f[

87. ���·���?
(a) 1960
(b) 1963
(c) 1970
(d) 1973

88. Col� �� � �
(a) ��<r
(b) �
(c)�
(d) �

89. ''1'��·�
(a) �'iit
(b) 1fl�
(c) �
(d)�

90. � �� ��"( � � �
(a)�
(b)<.!l�

(c) �
(d) ��
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Space for Rough Work 
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